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‘ 1} Determine number of atoms for each DMg + D 0, 2 D MgO
| element.
2) Pick an element that is not equal on

T

% DC3+D03 >[ Jco \

9

'M’ariai Period: Seat -
m Act Name
®

Atoms are not or during a chemical reaction.
Scientists know that there must be th@ number of atoms on each of
=~ . To balance the chemical equation, you must ad in front ‘;lf

of the chemical formulas in the equation. You cannot or” subscripts!

= Mo =
both sides of the equation. Mg g

3) Add a coefficient in front of the 0= O=
formula with that element and adjust

your counts } g
4) Continue adding coefficients to get the 5 % WOED B_;\\\}K

same number of atoms of each element

on each side. ; Add\ Q;MﬂC}Q,f COQQQ!WS/
e,reo&ad; deShoyed,
eSuaHon, Samt, sidQ

Try these:

Ca= Ca=

O= 0=
DN2+DH3 > | | NH;

N= N =

H=

DCUZO + DC 2> DCu +DC03

Cu= Cu=

O= O=

C= C=
DH"'OZ -> DHzO-?— DO”

H= =

O= O=
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Step-by-Step Example Problem:

Step 1: Determine number of atoms for each element.

Mg + 0, => MgO

Mg=1

O=1

AE

Balancing Act
Teacher Notes

Step 2: Pick an element that is net equal on both sides of the equation.

Mg + O, =2 MgO
Mg = Mg =1
O0=2 O=1

Since the O atoms are not equal,
we’ll target those first!

Step 3: Add a coefficient in front of the formula with that element and adjust your counts.

Mg + 0, => 2 MgO
Mg =1 Mg :/::?l\
0=2 O=+2

Adding a 2 in front of MgO will
change the number of atoms on the
product side of the equation.

Step 4: Continue adding coefficients to get the same number of atoms of each element on each side.

Mg + O, =2 2 MgO
Mg=+4 2 Mg =42
O=2 O=%z
Now we need to increase the

number of Mg atoms we have on the
reactant side. Adding a 2 in front of
Mg will give us 2 atoms of Mg and

balance the equation.

LLWER ¥ § LWl v
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Balancing Act Practice Name

Balance each equation. Be sure to show your lists! Remember you cannot add subscripts or
place coefficients in the middle of a chemical formula.

1. Na + MgF, = NaF + Mg
2. Mg + HClI = MgClh, + H»

3. Ch, + KI = KCl + D

4. NaCl =>» Na + (b

5. Na + O, = Na,O

6. Na + HCI => H, + NaCl
7. K+ Cl, = KCl

Challenge: This one is tough!

CzH@ + 02 - C02 + Hzo

T. Trimpe 2006 hup://sciencespot.net/



Balancing Act Answer Key:

Page 1 Problems 2 [/
2Ca+ O, = 2Ca0

N, + 3H, = 2NH;

2Cu,O + C =>» 4Cu + CO,

2H,O, = 2H,O+ O; Hint Add the O atoms on the product side together when doing the counts.

Page 2 Practice Problems

. 2Na + MgF, =» 2NaF + Mg

2. Mg + 2HCl = MeCh + H,
3.ClL + 2KI = 2KCl + I,
4.2NaCl & 2Na + Cb
5.4Na + 0, & 2NaO

6. 2Na + 2HCl & H, + 2NaCl

7.2K + Cl, = 2KCl

Challenge: This one is tough!

2C2H6 + 702 -> 4CO?_+ 6H20

T. Trimpe 2006 http://sciencespot.net/
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[DEN  +70SeD < goeD  + "OS®N OH + D) <« ‘O +°HD
‘H +70%d <« OH + o ‘O + IV < 07V

"THD <« ™ + D %0'd <« O + 'd ‘N <« ‘H + N

O%®BN <« ‘O + ®BN ‘O + O°'H <« “O'H OH < O + ‘H
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[DENC + 'OSED <« TDED + TOS®N OH9 + ‘0Dt <« “OL + "HT
‘Hy +7'0%d <« O'HY + °d¢ ‘O¢ + VP <« *O°IVC

'HD <« “Hz + D °0'd < ‘¢ + 'd 'HNZ < ‘HE + N

O®NCZ <« ‘O + BN¥ ‘0 + O'HT <« “O‘HT O'Ht <« ‘O + HC
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